APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	ANDY ZWIEG	- Administração	Page 1 of 6				
SHEPA Project: ASSESS	RD TERRACE, CHAMBERLAIN AVENUE, SMENT DISTRICT - 2019	VAN HISE AND MASON	STREET				
Contract Number:	8104	Pa	syment Number: 10				
DO NOT WRIT	E IN THIS BOX - TO BE COMPLET	TED BY CITY ENGINEERIN	G PERSONNEL ONLY				
TOTAL FROM PAGE							
LESS RETAINAGE:		42,0	018.40				
SUBTOTAL:			195,17				
LESS PREVIOUS PA	AYMENTS:	1,555,447.34					
CURRENT PAYMEN	T DUE:	\$ 12,547.83					
INSPECTOR'S CERTIFIE under by this a and that in the inspector in the insp	ACTOR: SPEEDWAY SAND & GRA TIFICATE FOR PAYMENT: Idensigned Inspector certifies that to the to application for payment has been complete the contractor is entitled to payment for the contractor is entitled to payment for ETIME PERIOD FOR THIS PAYMENT RE- ECONTRACTOR/SUBCONTRACTORS TH	pest of his/her knowledge eted in accordance with to the amount certified.	DATE ROM: 7-1-19 TO: 7-21-19				
	PAYMENT REQUEST SHALL BE SUBMIT!		NSPECTOR.				

STREET ACCOUNT: 11742-402-170
STREET (STORM) ACCOUNT: 11742-402-174

STORM ACCOUNT: 11742-84-174 SANITARY ACCOUNT: 11742-83-173 WATER ACCOUNT: 11742-86-179

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

SHEPARD TERRACE, CHAMBERLAIN AVENUE, VAN HISE AND MASON STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8104

PAYMENT NO. 10 ****** #10 6 2 3 5 7 9 11 12 PERCENT **ESTIMATED** UNIT PRICE CONTRACT C. O. **UNITS THIS** UNITS PREV. TOTAL ITEM TYPE OF WORK QUANTITIES UNITS **DOLLARS DOLLARS** APPL. **EXTENSION** APPL.(S) **EXTENSION** UNITS **EXTENSION** COMPLETE BID STREET ACCOUNT: 11742-402-170 10701 TRAFFIC CONTROL 1.00 **LUMP SUM** \$5,000.00 \$5,000.00 0.00 \$0.00 1.00 \$5,000.00 1.00 \$5,000.00 100.00% 10801 **ROOT CUTTING - CURB & GUTTER** 40.00 L.F. \$10.00 \$400.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00% 10911 **MOBILIZATION** 0.47 LUMP SUM \$172,250.00 \$80,957.50 0.00 \$0.00 0.47 \$80,957.50 0.47 \$80,957.50 100.00% 20101 **EXCAVATION CUT** 4,400.00 C.Y. \$25.50 \$112,200.00 (258.56)(\$6,593.40)5,098.82 \$130,020.03 4,840.26 \$123,426.63 110.01% 20130 UNDERDRAIN 512.00 L.F. \$14.00 \$7,168.00 30.00 \$420.00 300.00 \$4,200.00 330.00 \$4,620.00 64.45% GEOTEXTILE FABRIC TYPE SAS (NON-20140 1.700.00 S.Y. \$2.00 \$3,400.00 0.00 \$0.00 0.00 \$0.00 0.00 \$0.00 0.00% WOVEN) 20219 **BREAKER RUN** 1.300.00 TON \$8.00 \$10,400.00 (350.00)(\$2.800.00)2.261.98 \$18.095.84 1.911.98 \$15,295,84 147.08% **TOPSOIL** 20221 \$6.00 \$538.80 3,604.90 \$21,629,40 90.12% 4,000.00 S.Y. \$24,000.00 89.80 3,515.10 \$21,090.60 SAWCUT BITUMINOUS PAVEMENT 360.00 L.F. \$2.00 217.00 20303 \$720.00 \$434.00 100.00 \$200.00 317.00 \$634.00 88.06% **REMOVE CONCRETE CURB & GUTTER** (\$129.50)\$15,750.00 20322 4,700.00 L.F. \$3.50 \$16,450.00 (37.00)4,500.00 4,463.00 \$15,620.50 94.96% **REMOVE CONCRETE SIDEWALK &** 20323 10.800.00 S.F. \$2.50 \$27,000.00 1.549.60 \$3,874.00 10.000.00 \$25,000.00 11,549.60 \$28,874.00 106.94% DRIVE 20401 CLEARING 234.00 I.D. \$31.65 \$7,406.10 0.00 296.00 \$9,368.40 296.00 \$9,368.40 126.50% \$0.00 20402 **GRUBBING** 244.00 I.D. \$15.83 \$3,862.52 0.00 \$0.00 296.00 \$4,685.68 296.00 \$4,685.68 121.31% **TERRACE SEEDING** 4,000.00 20701 S.Y. \$1.60 \$6,400.00 89.80 \$143.68 3,515.10 \$5,624.16 3,604.90 \$5,767.84 90.12% **EROSION MATTING, CLASS I, TYPE A -**21063 4.000.00 S.Y. \$2.40 \$9,600.00 89.80 \$215.52 3,515.10 \$8,436.24 3,604.90 \$8,651.76 90.12% ORGANIC 30201 **TYPE 'A' CONCRETE CURB & GUTTER** 4,200.00 L.F. \$17.00 \$71,400.00 199.00 \$3,383.00 4,000.00 \$68,000.00 4,199.00 \$71,383.00 99.98% 30203 **TYPE 'X' CONCRETE CURB & GUTTER** 500.00 L.F. \$30.00 \$15,000.00 (262.00)(\$7,860.00) 592.00 \$17,760.00 330.00 \$9,900.00 66.00% HAND FORMED CURB & GUTTER (TREE 30208 40.00 L.F. \$30.00 \$1,200,00 (40.00)(\$1,200.00) 40.00 \$1,200,00 0.00 \$0.00 0.00% LOCATIONS) **5 INCH CONCRETE SIDEWALK** 30301 6.900.00 S.F. \$5.50 \$37.950.00 (351.00)7.370.80 7.019.80 \$38,608,90 101.74% (\$1,930.50) \$40.539.40 7 INCH CONCRETE SIDEWALK AND 30302 7,500.00 S.F. \$6.50 \$48,750.00 358.70 \$2,331.55 7,000.00 \$45,500.00 7,358.70 \$47,831.55 98.12% DRIVE

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

SHEPARD TERRACE, CHAMBERLAIN AVENUE, VAN HISE AND MASON STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8104 PAYMENT NO. 10

PAYME	NT NO. 10	1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30340	CURB RAMP DETECTABLE WARNING FIELDS	64.00	S.F.	\$35.00	\$2,240.00		0.00	\$0.00	64.00	\$2,240.00	64.00	\$2,240.00	100.00%
30453	SPLIT BLOCK RETAINING WALL	190.00	S.F.	\$54.00	\$10,260.00		0.00	\$0.00	206.00	\$11,124.00	206.00	\$11,124.00	108.42%
40101	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 1	2,500.00	TON	\$9.00	\$22,500.00		0.00	\$0.00	1,629.93	\$14,669.37	1,629.93	\$14,669.37	65.20%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	4,000.00	TON	\$9.00	\$36,000.00		0.00	\$0.00	4,279.90	\$38,519.10	4,279.90	\$38,519.10	107.00%
40201	HMA PAVEMENT 3 LT 58-28 S	1,500.00	TON	\$80.00	\$120,000.00		52.66	\$4,212.80	1,404.41	\$112,352.80	1,457.07	\$116,565.60	97.14%
40231	ASPHALT DRIVE & TERRACE	140.00	S.Y.	\$45.00	\$6,300.00		0.00	\$0.00	191.80	\$8,631.00	191.80	\$8,631.00	137.00%
90001	SIDEWALK CURB	80.00	L.F.	\$30.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
90002	REMOVE EXISTING WALL	1.00	LUMP SUM	\$7,980.00	\$7,980.00		0.00	\$0.00	1.00	\$7,980.00	1.00	\$7,980.00	100.00%
	SUBTOTAL				\$696,944.12			(\$4,960.05)		\$696,944.12		\$691,984.07	99.29%
STREET	(STORM) ACCOUNT: 11742-402-174												
20217	CLEAR STONE	300.00	TON	\$7.00	\$2,100.00		0.00	\$0.00	226.80	\$1,587.60	226.80	\$1,587.60	75.60%
21002	EROSION CONTROL INSPECTION	3.00	EACH	\$500.00	\$1,500.00		(1.00)	(\$500.00)	1.00	\$500.00	0.00	\$0.00	0.00%
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$250.00	\$500.00		0.00	\$0.00	2.00	\$500.00	2.00	\$500.00	100.00%
21012	STREET CONSTRUCTION ENTRANCE BERM	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	1.00	\$250.00	1.00	\$250.00	100.00%
21013	STREET SWEEPING	1.00	LUMP SUM	\$3,500.00	\$3,500.00		0.00	\$0.00	1.00	\$3,500.00	1.00	\$3,500.00	100.00%
21015	STREET CONSTRUCTION STONE BERM	8.00	EACH	\$250.00	\$2,000.00		0.00	\$0.00	11.00	\$2,750.00	11.00	\$2,750.00	137.50%
21017	SILT SOCK (8 INCH)-COMPLETE	13.00	L.F.	\$10.00	\$130.00		0.00	\$0.00	100.00	\$1,000.00	100.00	\$1,000.00	769.23%
21041	INLET PROTECTION TYPE D - COMPLETE	19.00	EACH	\$260.00	\$4,940.00		6.00	\$1,560.00	10.00	\$2,600.00	16.00	\$4,160.00	84.21%
40363	ADJUST CATCHBASIN	1.00	EACH	\$400.00	\$400.00		1.00	\$400.00	0.00	\$0.00	1.00	\$400.00	100.00%
40364	ADJUST INLET	1.00	EACH	\$400.00	\$400.00		(1.00)	(\$400.00)	1.00	\$400.00	0.00	\$0.00	0.00%
50401	12 INCH TYPE I RCP STORM SEWER PIPE	584.00	L.F.	\$62.75	\$36,646.00		27.00	\$1,694.25	580.00	\$36,395.00	607.00	\$38,089.25	103.94%
50741	TYPE H INLET	11.00	EACH	\$2,565.00	\$28,215.00		(1.00)	(\$2,565.00)	12.00	\$30,780.00	11.00	\$28,215.00	100.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

SHEPARD TERRACE, CHAMBERLAIN AVENUE, VAN HISE AND MASON STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8104

		1	2	3	4	5	6	7	8	9	******* #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90030	CONSTRUCT NEW SIDEWALK FLUME/INLET	1.00	EACH	\$5,194.00	\$5,194.00		0.00	\$0.00	1.00	\$5,194.00	1.00	\$5,194.00	100.00%
	SUBTOTAL				\$85,775.00			\$189.25		\$85,456.60		\$85,645.85	99.85%
STORM	ACCOUNT: 11742-84-174												
10911	MOBILIZATION	0.02	LUMP SUM	\$172,250.00	\$3,445.00		0.00	\$0.00	0.02	\$3,445.00	0.02	\$3,445.00	100.00%
20313	REMOVE INLET	3.00	EACH	\$425.00	\$1,275.00		0.00	\$0.00	4.00	\$1,700.00	4.00	\$1,700.00	133.33%
40371	REBUILD ACCESS STRUCTURE TOP	1.00	EACH	\$1,750.00	\$1,750.00		0.00	\$0.00	1.00	\$1,750.00	1.00	\$1,750.00	100.00%
50211	SELECT BACKFILL FOR STORM SEWER	785.00	T.F.	\$0.10	\$78.50		30.50	\$3.05	780.00	\$78.00	810.50	\$81.05	103.25%
50403	18 INCH TYPE I RCP STORM SEWER PIPE	86.00	L.F.	\$62.78	\$5,399.08		0.00	\$0.00	87.00	\$5,461.86	87.00	\$5,461.86	101.16%
50402	15 INCH TYPE I RCP STORM SEWER PIPE	115.00	L.F.	\$67.40	\$7,751.00		0.00	\$0.00	116.50	\$7,852.10	116.50	\$7,852.10	101.30%
50455	FIELD BEND	1.00	EACH	\$1,000.00	\$1,000.00		0.00	\$0.00	1.00	\$1,000.00	1.00	\$1,000.00	100.00%
50724	4'X4' STORM SAS	1.00	EACH	\$3,934.00	\$3,934.00		0.00	\$0.00	1.00	\$3,934.00	1.00	\$3,934.00	100.00%
50763	TERRACE INLET TYPE II	1.00	EACH	\$5,594.00	\$5,594.00		0.00	\$0.00	1.00	\$5,594.00	1.00	\$5,594.00	100.00%
50792	STORM SEWER TAP	4.00	EACH	\$1,200.00	\$4,800.00		0.00	\$0.00	3.00	\$3,600.00	3.00	\$3,600.00	75.00%
50801	UTILITY LINE OPENING	3.00	EACH	\$750.00	\$2,250.00		0.00	\$0.00	3.00	\$2,250.00	3.00	\$2,250.00	100.00%
	SUBTOTAL				\$37,276.58			\$3.05		\$36,664.96	-	\$36,668.01	98.37%
SANITA	RY ACCOUNT: 11742-83-173												
10911	MOBILIZATION	0.44	LUMP SUM	\$172,250.00	\$75,790.00		0.00	\$0.00	0.44	\$75,790.00	0.44	\$75,790.00	100.00%
20311	REMOVE SEWER ACCESS STRUCTURE	7.00	EACH	\$700.00	\$4,900.00		1.00	\$700.00	6.00	\$4,200.00	7.00	\$4,900.00	100.00%
20314	REMOVE PIPE (SANITARY)	279.00	L.F.	\$30.00	\$8,370.00		0.00	\$0.00	279.00	\$8,370.00	279.00	\$8,370.00	100.00%
20331	ABANDON SEWER ACCESS STRUCTURE	4.00	EACH	\$450.00	\$1,800.00		0.00	\$0.00	4.00	\$1,800.00	4.00	\$1,800.00	100.00%
20335	ABANDON SEWER PIPE WITH SLURRY	13.00	C.Y.	\$370.00	\$4,810.00		2.37	\$876.90	7.00	\$2,590.00	9.37	\$3,466.90	72.08%
20336	PIPE PLUG	10.00	EACH	\$250.00	\$2,500.00		(3.00)	(\$750.00)	3.00	\$750.00	0.00	\$0.00	0.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

SHEPARD TERRACE, CHAMBERLAIN AVENUE, VAN HISE AND MASON STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8104

PAYMENT NO. 10

		1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50103	RECONSTRUCT BENCH AND FLOWLINES	2.00	EACH	\$1,200.00	\$2,400.00		2.00	\$2,400.00	0.00	\$0.00	2.00	\$2,400.00	100.00%
50201	ROCK EXCAVATION	220.00	C.Y.	\$1.00	\$220.00		0.00	\$0.00	50.43	\$50.43	50.43	\$50.43	22.92%
50212	SELECT BACKFILL FOR SANITARY SEWER	3,815.00	T.F.	\$0.10	\$381.50		102.50	\$10.25	3,300.00	\$330.00	3,402.50	\$340.25	89.19%
50301	8 INCH PVC SANITARY SEWER PIPE	2,171.00	L.F.	\$124.03	\$269,269.13		49.50	\$6,139.49	2,100.00	\$260,463.00	2,149.50	\$266,602.49	99.01%
50353	SANITARY SEWER LATERAL	1,644.00	L.F.	\$54.83	\$90,140.52		53.00	\$2,905.99	1,200.00	\$65,796.00	1,253.00	\$68,701.99	76.22%
50356	RECONNECT SANITARY SEWER LATERAL	61.00	EACH	\$3,190.60	\$194,626.60		(6.00)	(\$19,143.60)	60.00	\$191,436.00	54.00	\$172,292.40	88.52%
50359	COMPRESSION COUPLING	2.00	EACH	\$930.00	\$1,860.00		0.00	\$0.00	2.00	\$1,860.00	2.00	\$1,860.00	100.00%
50361	WASTEWATER CONTROL	1.00	EACH	\$5,000.00	\$5,000.00		0.00	\$0.00	1.00	\$5,000.00	1.00	\$5,000.00	100.00%
50390	SEWER ELECTRONIC MARKERS	140.00	EACH	\$49.90	\$6,986.00		(3.00)	(\$149.70)	120.00	\$5,988.00	117.00	\$5,838.30	83.57%
50701	4' DIA. SANITARY SAS	10.00	EACH	\$3,832.00	\$38,320.00		0.00	\$0.00	10.00	\$38,320.00	10.00	\$38,320.00	100.00%
50791	SANITARY SEWER TAP	10.00	EACH	\$1,500.00	\$15,000.00		0.00	\$0.00	5.00	\$7,500.00	5.00	\$7,500.00	50.00%
	SUBTOTAL				\$722,373.75		•	(\$7,010.67)	•	\$670,243.43		\$663,232.76	91.81%
WATER	ACCOUNT: 11742-86-179												
10911	MOBILIZATION	0.07	LUMP SUM	\$172,250.00	\$12,057.50		0.00	\$0.00	0.07	\$12,057.50	0.07	\$12,057.50	100.00%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	80.00	L.F.	\$123.20	\$9,856.00		0.00	\$0.00	84.00	\$10,348.80	84.00	\$10,348.80	105.00%
70003	FURNISH AND INSTALL 8 INCH PIPE & FITTINGS	150.00	L.F.	\$110.04	\$16,506.00		0.00	\$0.00	146.00	\$16,065.84	146.00	\$16,065.84	97.33%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	6.00	EACH	\$1,975.00	\$11,850.00		0.00	\$0.00	6.00	\$11,850.00	6.00	\$11,850.00	100.00%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	1.00	EACH	\$2,522.00	\$2,522.00		0.00	\$0.00	1.00	\$2,522.00	1.00	\$2,522.00	100.00%
70040	FURNISH, INSTALL AND SALVAGE HYDRANT	4.00	EACH	\$5,545.00	\$22,180.00		0.00	\$0.00	4.00	\$22,180.00	4.00	\$22,180.00	100.00%
70053	REPLACE 1-INCH COPPER SERVICE LATERAL	2.00	EACH	\$3,685.00	\$7,370.00		0.00	\$0.00	2.00	\$7,370.00	2.00	\$7,370.00	100.00%
70056	RECONNECT 1-INCH SERVICE LATERAL	6.00	EACH	\$2,168.19	\$13,009.14		0.00	\$0.00	3.00	\$6,504.57	3.00	\$6,504.57	50.00%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	3.00	EACH	\$2,500.00	\$7,500.00		0.00	\$0.00	3.00	\$7,500.00	3.00	\$7,500.00	100.00%
70081	FURNISH EXCAVATION AND DITCH FOR LIVE TAP	1.00	EACH	\$2,000.00	\$2,000.00		0.00	\$0.00	1.00	\$2,000.00	1.00	\$2,000.00	100.00%

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

SPEEDWAY SAND & GRAVEL, INC.

SHEPARD TERRACE, CHAMBERLAIN AVENUE, VAN HISE AND MASON STREET ASSESSMENT DISTRICT - 2019

CONTRACT NO. 8104

PAYME	NT NO. 10	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
70082	CUT OFF EXISTING WATER MAIN	1.00	EACH	\$2,604.00	\$2,604.00		0.00	\$0.00	1.00	\$2,604.00	1.00	\$2,604.00	100.00%
70090	ABANDON WATER VALVE BOX	3.00	EACH	\$250.00	\$750.00		0.00	\$0.00	7.00	\$1,750.00	7.00	\$1,750.00	233.33%
70101	FURNISH AND INSTALL STYROFOAM	8.00	L.F.	\$20.00	\$160.00		0.00	\$0.00	8.00	\$160.00	8.00	\$160.00	100.00%
70104	ADJUST WATER VALVE BOX SECTIONS	12.00	EACH	\$300.00	\$3,600.00		0.00	\$0.00	10.00	\$3,000.00	10.00	\$3,000.00	83.33%
70106	ROCK EXCAVATION	20.00	C.Y.	\$1.00	\$20.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.00%
	SUBTOTAL				\$111,984.64			\$0.00	•	\$105,912.71	-	\$105,912.71	94.58%
CONTRA	ACT TOTALS				\$1,654,354.09			(\$11,778.42)		\$1,595,221.82		\$1,583,443.40	95.71%
CHANG	E ORDER #1, ACC'T NO. 11742-86-179												
	- 2831 VAN HISE - REPLACE CURB BOX - 118 SHEPARD TER - REPLACE CURB	1.00	LUMP SUM	\$350.00		\$350.00	0.00	\$0.00	1.00	\$350.00	1.00	\$350.00	100.00%
	BOX	1.00	LUMP SUM	\$350.00		\$350.00	0.00	\$0.00	1.00	\$350.00	1.00	\$350.00	100.00%
	- 102 SHEPARD TER - ABANDON EXISTING CURB BOX	1.00	LUMP SUM	\$100.00		\$100.00	0.00	\$0.00	1.00	\$100.00	1.00	\$100.00	100.00%
	- 102 SHEPARD TER - REPLACE CURB BOX	1.00	LUMP SUM	\$350.00		\$350.00	0.00	\$0.00	1.00	\$350.00	1.00	\$350.00	100.00%
	- 18 SHEPARD TER - REPLACE CURB BOX TOP	1.00	LUMP SUM	\$125.00		\$125.00	0.00	\$0.00	1.00	\$125.00	1.00	\$125.00	100.00%
	- 2814 MASON - REPLACE CURB BOX CHANGE ORDER #1 TOTAL	1.00	LUMP SUM	\$350.00	l	\$350.00 \$1,625.00	0.00	\$0.00 \$0.00	1.00	\$350.00 \$1,625.00	1.00	\$350.00 \$1,625.00	100.00%
CHANG	E ORDER #2, ACC'T NO. 11742-86-179												
	- REPLACE CURB BOX OR PARTIAL REPLACEMENT	1.00	LUMP SUM	\$1,100.00		\$1,100.00	1.00	\$1,100.00	0.00	\$0.00	1.00	\$1,100.00	100.00%
	- ADJUST EXISTING CURB BOX	1.00	LUMP SUM	\$800.00		\$800.00	1.00	\$800.00	0.00	\$0.00	1.00	\$800.00	100.00%
	CHANGE ORDER #2 TOTAL					\$1,900.00		\$1,900.00		\$0.00		\$1,900.00	
CHANG	E ORDER #3, ACC'T NOS. (SEE BELOW):												
	11742-402-170		0.1/		ı			A4= 0=0 00	۱	***			1 400 000/
	- EXCAVATION CUT - BREAKER RUN	700.00 350.00	C.Y. TON	\$25.50 \$8.00		\$17,850.00 \$2,800.00	700.00 350.00	\$17,850.00 \$2,800.00	0.00 0.00	\$0.00 \$0.00		\$17,850.00 \$2,800.00	
	SUBTOTAL	330.00	TON	ψο.σο	<u>l</u>	\$20,650.00	330.00	\$20,650.00	0.00	\$0.00] 330.00	\$20,650.00	100.00%
	11742-84-174 - STORM SEWER TAP	2.00	EACH	\$1,200.00	I	\$2,400.00	2.00	\$2,400.00	0.00	\$0.00	2.00	\$2,400.00	100.00%
	- STORINI SEVVER TAP	2.00	EAUN	∲1,∠UU.UU	 	⊅∠,400.00	2.00	⊅∠,400.00	0.00	φυ.υυ		⊅∠,400.00	100.00% -
	CHANGE ORDER #3 TOTAL					\$23,050.00		\$23,050.00		\$0.00		\$23,050.00	
GRAND	TOTALS (CONTRACT TOTALS PLUS CHAN	NGE ORDERS)			\$1,680,929.09		•	\$13,171.58	•	\$1,596,846.82	= ;	\$1,610,018.40	= 95.78%